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3. There are three ways to measures the change in consumer welfare when there is an
increase 1n the price of a good: change in consumer surplus, compensating
variation, and equivalent variation.

a. Use graphs to explain each of these three measures when there is an increase
1n the price. (12%)

b. What 1s the ranking of sizes of these effects if the good is normal? How does
this ranking change if the good is inferior? (5%)

c. Use the Slutsky equation to how the differences in these three measures are
determined? (8%)

4. Consider the market of rice in Tatwan which 1s perfectly competitive, and the
equilibrium price equals $20 per unit. Suppose that the government believes that
the equilibrium price 1s too low and wish the rice farmers to receive $40 instead.
The government considers two projects: price support and deficiency payment.
The price support program involves in setting price equal to $40 and the
government purchases the amount of excess supply then destroys the rice. The
deficiency payment involves in government subsidizing the consumer enough
money such that they are willing to purchase the amount producers wish to
produce at price equals to $40. Draw two graphs to show the consumer surplus,
producer surplus, government expenditure, and the corresponding deadweight loss
of each program. Which program is better? Explain. (25%)



